hﬁ‘- Gats n X & G —>5X 15 a L\DMaW\othfSM,
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where Xg'- X — X
X — %X. O

Eg Dy — 5, = permutations(Ds/H)

kernel = 7 image = ?
Q sice g Cp =0 Vi=133 = gH=H
= geH;
bty Cy = Cy, oy f ker(Dy—=5). [ Thus ker = {1

g =
5D,
Prop: Fix a G-set X and xeX with stabilizer G, and orbit G,

Theve is a V)a+urml E(}'ec‘How G/H - (Ox

aH = ax
T+ satisfies (3C) = o%(C) for g4¢G and CeG/H.

Pf: Need aH=bH = ax =bx. But aH=bH & d'beH
S a'bx = x

Y is surjective by c% &  bx = ax.
.

wjective by
Loose ends 1. G <TIsom(R) fimte = G=C, or D,.
Need reG reflection = G=D,. P H={rotations in Gl <G
= H=Cy for some n
= G2 HurH =D.
But ZEG reflection = r"g retation
= ge rH. O
L. h‘o_r Let GCX. Fix xeX and x’¢ 0, say X' = ax.
Then {%EG ‘ 9 =x} = a6, ad G, = aGa’

w1 N

Xesx! Xesx ¥y, O




Coun’l’iﬂg
Recall: 1G] = [HI'l6/HI.  Let GCX.
Coc: |G| = |Gx|'|f9x| for xeX.

P J6l = HI[G:H] with H =G, plus bijection G/H — ¢, O
Lemma: X =2 0],

orbits @
PE X i Farﬂﬂoheo‘ la)( s orbits. O

E_-:}- G = 0rieh+0\+iov\—Freservinj }sow\eJrries o'P fCOSQL\ealr‘on I

1L QG =7

A. Ever)/ %GG s o rotation about certroid of T

' Gl 0-C+5 on F = {'g:o\ces o‘p I} | et 'FEF

Ol = IFI =7
G, =7 = 1G] = 320 = 60
© G acts on Y = {vertices of I} Let wel/.
0, = V] =7
Gl =7 = |G| = 512 = 60.
2. Q. How many eclges does T have?
A G acts on E = {edges of T} Let ecE.
Gl = 1El =7 30 because G achs transitively 2
G = 7 S lal =27 =60
3 V= lvl=1-=

O
H =G, = stablizer of v for some (any) vel
I

610 = stabilizer of £ for some (any) feF = [0=3+3+3+3

Prop: H,K <G = [HiHK] < [G:K].
PP Let X =6/K. Then GCX St x=1KeX
He =72
[H:Hok] = 10] < IXI = le/kl = [G:K]. O




